Chemistry Il Practice Test
Chapter 13 - Chemical Equilibrium

1. Write the equilibrium constant expressions for the following reactions; |
L

2) CaClz(s) + 2Hz0(g) <==> CaCl22Hz0f) K= a1’ Fe” /gzu

b) Hz(g) + Cl2(g) <==> 2HCl(g) K- f?fgm Kp = ﬁ*“@

c) P4(g) + BH2(g) <==> 4PH3(g) - E@—-’—n Ko 2,

d) NH4Cls) <==> NH3(g) + HCl(g)  [#4J] o, | F= /9 .
K = (R reed Ko-", D

2. For each of the reactions in #1, write the expression for Kp and determlne Ahg

relailonship between K and Kp.
- 2
@ K- tRT7 @ Kp= K @ £ @)@ kB
3. For the reaction; CO(g) + Clz(g) <==> COClp(g). K=5.1x 109. 1f enough pure .
COCI2 is added to a 1.0 L tiask that 0. 25 moles of COCi2 remain at equmbrlum 0,26 H

what is the equilibrium concenration of CO? | %l,_. 5, yc/D e
K=reaped %8 x®
4. Calculate the partial pressure of i2 for the following reactlon with the given 7~ :
information. £ (16,00 5tm" |
I, #59(0 0atafp =439
2H2(g) + I2(g) <==> 2Hi(g) - 179291939 PHI=400atm [ 16 =
K (157 = (4.00chm) © #m  PHg = 0.200 atm 5
T 2T (orcoatm)e Py, (U T4atin”
5. Use the foliowmg infformation to calcu!ate the eq gil'ébrium concentrations for ail
reactants and products. e O = ___(_Z_}_v__m_____.
' [;00(8‘? 000@347 0086 2177 '((-j’dﬂw_%)z K = 450
+ <==> 2H| I . H 0.0300 M ‘
5 ", oi«g 0 * oo %Ia]zj0 0.0300M |
Cg iy X F2E P393 7 (00000220 T gy = G 2OIZTELLS
- Joe300-% 005007 2% 6. 201 LI 66, 708 205 /)’2% xx G, 7082083732

6. Forthe reaction; N2(g) + 3H2(g) <==> 2NH3(g) + 92.94 KJ, in which direction ’c?‘,c?,_,)/ﬁ?[
will the equilibrium shift for each of the following changes? = 0. 07 P

a) increase in temperature << | e) some NHga is removed ——>
b) decrease in temperature > f) more NHg is added <——
c) increase in volume <<— g) some Nz is removed <—

d) decrease in volume ——= h) more N2 is added ——=>




